

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 1, 2022

Progress Estimate 2	Number	Contract ID Prime Contractor	220121-F03 Parking Lot Mainte	enance, LL			Original Contract Amous 2 Net Change Order Amou Current Contract Amour	int \$0.00			
Approval Date											
August 2, 2022		Generated and Approved (and should be considered Draft) at the Project Office Level by									
August 3, 2022		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by									
August 3, 2022		Controllers Office Level by	ramses1								
Original Completi	on Date	Current Con	npletion Date	Actua	al Completion Date	% o	of Current Contract Amoun	rent Contract Amount Complete			
November 1, 2	022	Novembe	er 1, 2022				56.66%				
	Contrac	t Informational Dat	tes	Milestones							
Date Description	Origina	Completion Date	Current Completion Date		No Milestones Exist for Contract						
Acceptance Date											
Awarded Date	February	y 2, 2022	February 2, 2022								
Letting Date	January	21, 2022	January 21, 2022								
Notice to Proceed Date	e March 7	, 2022	March 7, 2022								
Open to Traffic Date											
Work Began Date											

Contract Total Pay For Estimate No. 2											
		This Estimate	Previous	To Date							
220121-F03											
	Total Posted Items Pay	\$46,471.20	\$94,713.20	\$141,184.40							
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00							
	Incentive	\$0.00	\$0.00	\$0.00							
	Disincentive	\$0.00	\$0.00	\$0.00							
	Liquidated Damage	\$0.00	\$0.00	\$0.00							
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00							
			\$94,713.20	\$141,184.40							
Contract Total Paya	able This Estimate:	\$46,471.20									

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount				
J6I3622	0010 4137000 BITUMINOUS PAVEMENT CRACK FILLING LF \$0.400 116,178										
Project J6I3622	Project J6l3622 - Total										
Overall - Total	Overall - Total										

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6I3622	0010	BITUMINOUS PAVEMENT CRACK FILLING	Material			-321,086	\$0.40	(\$128,434.40)
	0010	BITUMINOUS PAVEMENT CRACK FILLING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user bauerd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	321,086	\$0.40	\$128,434.40
Total								\$0.00

Revision 4/1/2020 Page 1 of 6



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work					
J6I3622	I 170-5(276)	Pavement preservation treatment	I-170	ST LOUIS	I-170 from I-270 to I-64							
Totals by	otals by Job Numbers											
J6I3622					This Estimate	Previous	To Date					

als by Job Numbers			
13622	This Estimate	Previous	To Date
Posted Item Pay	\$46,471.20	\$94,713.20	\$141,184.40
Gross Item Adjustments	\$0.00	\$0.00	\$0.00
Gross Item Pay	\$46,471.20	\$94,713.20	\$141,184.40
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
I			

Revision 4/1/2020 Page 2 of 6



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6I3622, Item 4137000, Project Item Line Number 0010, Material Set 413700096, Material 1057JMHP - Hot Pour Elastic Joint Material @, Acceptance Action Generic 1057JMHP is insufficient.	Jefferson City is in charge of the PAL materials certification for this product. Contractor is working on supplying correct certification to Jefferson City. PLM needs to supply Dan Zydiak with a Lot # or certification for CrackMaster 3405. They are in the middle of this process and filled out the wrong form for Jefferson City.	BAUERD1	Overridden

Revision 4/1/2020 Page 3 of 6



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220121-F03	J6I3622	0001	0010	4137000	BITUMINOUS PAVEMENT CRACK FILLING	386,634.00	0.00	386,634.00	LF	321,086.00	\$0.40	\$128,434.40
		0001	0020	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	0030	6169901	MISC.TEMPORARY TRAFFIC CONTROL, 1 LUMP SUM	1.00	0.00	1.00	LS	0.50	\$10,500.00	\$5,250.00
	0001 0040			6169902	MISC."CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED/RETAINED"	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.00
		0001	0050	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$1,000.00	\$500.00
		0001	0060	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	162,853.00	0.00	162,853.00	LF	0.00	\$0.22	\$0.00
	0001 0070 62	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	99,486.00	0.00	99,486.00	LF	0.00	\$0.21	\$0.00		
		0001 0080	0800	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	19,285.00	0.00	19,285.00	LF	0.00	\$1.00	\$0.00
Project J6l3622 - Total Value Posted to Date as of Report Generated Date												\$141,184.40
220121-F03 Ove	rall - Total	I Value Pos	ted to Da	ate as of Rep	ort Generated Date							\$141,184.40

Revision 4/1/2020 Page 4 of 6



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6I3622

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	4137000	BITUMINOUS PAVEMENT CRACK FILLING	7/18/22	7/31/22	25,733.00	LF	Lane 1/2 northbound 170 crackseal from St Charles Rock Rd to under highway 70.					
			7/19/22	7/31/22	48,250.00	LF	1170 Northbound lane 1 under 70 to Northern project limits. 170 northbound lane 3 Woodword Rd to St Charles Rock Rd					
			7/20/22	7/31/22	25,733.00	LF	St Charles Rock Rd lane 3 to Frost Ave lane 3. 216LF of horizontals sealed.					
			7/22/22	7/31/22	16,462.00	LF	170 Northbound, various sections between Galleria Parkway and Scudder Rd lanes 1 and 3.					The total of 321,086LF includes all crackealing done to this date. 3 miles of lane 2/3 170 northbound at mile marker 2.6 were not crackealed (1,594LF), 2,004LF of horizontals were crackealed and have been added to the grand total along with the deduction of 3 miles at mile marker 2.6. The grand total total to date for 170 Northbound is 168,6594LF which includes additions and deductions.

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 4/1/2020 Page 5 of 6

Aug 4, 2022



Line Item Adjustments by Estimate

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6I3622	0010	BITUMINOUS PAVEMENT CRACK	Material		2	Aug 2, 2022	SYSTEM	\$128,434.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user bauerd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
	FILLING	FILLING			2	Aug 2, 2022	SYSTEM	(\$128,434.40)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
0010 - Total								\$0.00	
J6I3622 - Total							\$0.00		
Overall -	Overall - Total							\$0.00	